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Pwalh YwGnGwnpwlwG hhdGunpwih GuquanyG swihp 11,400,700 50000 fuwfunnud welw st

CLOnhwGnip (ubithwywa) Yuwhwwih GJuquagneyG swhp 15,093,305 5,000,000 fuwfuinnd welu sk

U1 CGnhwanip Ywwhwwih b nhuyny Gardwsé wiynhyGph gnudwnGtph Shol 12.04 12.00 fuwtunnud wnlw sk
GJwquant)b hwpwpbipwygnepynilp

U,' Pwilyp puindn hpwgybiih wyinhdGiph L pnhwGni wiwnhyGeph gnidwnGeph 26.17] 15.00] fuwfunnid welw sk
uhol. Gywquantyb hwpwpbipwygnepnilp

U,% Pwlh pwindp hpwgybith whnhyGeph b gwwhwGe wwpunwynpnipyntGGlph 221.99 60.00 fuwfunnid weyw st
thol Gjwquagntyb hwpwpbpwygnipnilp

U,' Ukl thnfuwnnth qény phulh wnwbjwgnyG swthp 19.73 20.00 fuwfunnid welu st

Us? tunnp thnfuwnniGliph gény phulh wnwybjwagntG swihp 177.37 500.00 fuwfunnid wnlw sk

U, Pwibh htiin Yuwyws sty whdh qony phulh wewybjwgny swihp 3.35 5.00 fuwfunnid wnlw st

U2 Pwllh htitn Ywwyws pninp whawbg gény nhulh wowybtiwgntG swihp 14.41 20.00 fuwfunnLd wnlw st

Rwjwuinwth Iwbpwwbinnipjw YabunpnlGwlywh pwbynid inbnwpwfudws 8L12 fuwfunnid welw gk
wwpuwnhp wywhniunGbph GJuqugni)b swithp X
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